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1. Which of the following headlines is more closely related to what microeconomists study than to what macroeconomists study?
a. Unemployment rate falls from 7.5 percent to 7.3 percent.
b. Real GDP falls by 0.4 percent in the third quarter.
c. Inflation was 2.4 percent last year.
d. The price of gasoline rises due to rising oil prices.
ANS:  D

2. Which of the following is included in the calculation of GDP?
a.   The purchase of tutoring services from a tutor who holds citizenship outside the country but resides within the country.
b.   The purchase of a new edition of a foreign textbook that was produced in a different nation.
c.   The purchase of ink and paper supplies by a textbook company for the production of new textbooks.
d.   The purchase of a used textbook from a friend who took the same class last year.
ANS:  A

3. A Mexican oil field service company works on oil rigs in the U.S. The value of the company’s services produced by Mexican citizens and the equipment they own is included in
a.   Mexican GNP and U.S. GNP.
b.   Mexican GDP and U.S. GNP.
c.   Mexican GNP and U.S. GDP.
d.   Mexican GDP and U.S. GDP.
ANS:  C

4. Suppose a country has government expenditures of $3,500, taxes of $2,200, consumption of $9,000, exports of $2,500, imports of $2,700, transfer payments of $750, capital depreciation of $800, and investment of $3,000. GDP equals
a. $24,450. 
b. $11,550. 
c. $15,300. 
d. $20,700.
ANS:  C

5. Suppose an economy produces only eggs and ham. In 2009, 100 dozen eggs are sold at $3 per dozen and 50 pounds of ham sold at $4 per pound. In 2010, the base year, eggs sold at $1.50 per dozen and ham sold at $5 per pound. For 2009,
a.   nominal GDP is $400, real GDP is $500, and the GDP deflator is 80.
b.   nominal GDP is $400, real GDP is $500, and the GDP deflator is 125.
c.   nominal GDP is $500, real GDP is $400, and the GDP deflator is 80.
d.   nominal GDP is $500, real GDP is $400, and the GDP deflator is 125.
ANS:  D

6. Last year country A had a nominal GDP of $600 billion, a GDP deflator of 150 and a population of 40 million.Country B had a nominal GDP of $720 billion, a GDP deflator of 120 and a population of 50 million. From these numbers which country is likely to have had the higher standard of living?
a.   Country A because it had the higher nominal GDP per person.
b.   Country B because it had the higher nominal GDP per person.
c.   Country A because it had the higher real GDP per person.
d.   Country B because it had the higher real GDP per person.
ANS:  D

7. Which of the following statements is correct?
a.   The CPI can be used to compare dollar figures from different points in time.
b.   The percentage change in the CPI is a measure of the inflation rate, but the     
percentage change in the GDP deflator is not a measure of the inflation rate.
c.   Compared to the consumer price index (CPI), the GDP deflator is the more   
common gauge of inflation.
d.   The GDP deflator better reflects the goods and services bought by consumers    
than does the CPI.
ANS:  A
8. Suppose a basket of goods and services has been selected to calculate the CPI and 2012 has been selected as the base year. In 2012, the basket’s cost was $77; in 2013, the basket’s cost was $82; and in 2014, the basket’s cost was $90. The value of the CPI in 2014 was
a.   109.8 and the inflation rate was 9.8%.
b.   109.8 and the inflation rate was 16.9%.
c.   116.9 and the inflation rate was 9.8%.
d.   116.9 and the inflation rate was 16.9%.
ANS:  C

9. Suppose today’s CPI is 134.85, and suppose one must spend $580 today to purchase the same basket of goods and services that could be bought for $400 in 1989. Then the CPI in 1989 was 
a.   24.27.
b.   60.68.
c.   93.00.
d.   195.53.
ANS:  C

Table 1
The table below pertains to Studious, an economy in which the typical consumer’s basket consists of 5 books and 10 calculators.
	Year
	Price of a Book
	Price of a Calculator

	2012
	$24
	$9

	2013
	$30
	$11

	2014
	$32
	$12


10. Refer to Table 1. If 2013 is the base year, then the consumer price index was 
a.   80.8 in 2012, 100 in 2013, and 107.7 in 2014.
b.   80.5 in 2012, 100 in 2013, and 107.3 in 2014.
c.   247.5 in 2012, 307.5 in 2013, and 330 in 2014.
d.   210 in 2012, 260 in 2013, and 280 in 2014.
ANS:  A

11. Refer to Table 24-4. The inflation rate was
a.   24.3 percent in 2013 and 22.5 percent in 2014.
b.   23.8 percent in 2013 and 9.5 percent in 2014.
c.   23.8 percent in 2013 and 7.7 percent in 2014.
d.   24.3 percent in 2013 and 7.3 percent in 2014.
ANS:  C

12. If the nominal interest rate is 5 percent, and the rate of inflation is 3 percent, then the real interest rate is equal to
a.   2 percent.
b.   0.6 percent.
c.   1.7 percent.
d.   15 percent.
ANS:  A

13. Other things equal, relatively poor countries tend to grow
a.   slower than relatively rich countries; this is called the poverty trap.
b.   slower than relatively rich countries; this is called the fall-behind effect.
c.   faster than relatively rich countries; this is called the catch-up effect.
d.   faster than relatively rich countries; this is called the constant-returns-to-scale   effect.
ANS:  C

14. Which of the following statements is correct?
a.   Productivity is a determinant of human capital per worker.
b.   Technological knowledge is a determinant of productivity.
c.   Human capital and technological knowledge are the same thing.
d.   All of the above are correct.
ANS:  B

15. “When workers already have a large quantity of capital to use in producing goods and services, giving them an additional unit of capital increases their productivity only slightly.” This statement
a.   represents the traditional view of the production process.
b.   is an assertion that capital is subject to diminishing returns.
c.   is made under the assumption that the quantities of human capital, natural resources, and technology are being held constant.
d.   All of the above are correct.
ANS:  D

16. If your firm’s production function has constant returns to scale, then if you double all your inputs, your firm's output will
a.   double and productivity will rise.
b.   double but productivity will not change.
c.   more than double and productivity will rise.
d.   more then double but productivity will not change.
ANS:  B

17. The traditional view of the production process is that capital is subject to
a.   diminishing returns, so that other things the same, real GDP in poor countries should grow at a faster rate than in rich countries.
b.   diminishing returns, so that other things the same, real GDP in poor countries should grow at a slower rate than in rich countries.
c.   increasing returns, so that other things the same, real GDP in poor countries should grow at a faster rate than in rich countries.
d.   increasing returns, so that other things the same, real GDP in poor countries should grow at a slower rate than in rich countries.
ANS:  A

18. Financial intermediaries are
a.   the same as financial markets.
b.   individuals who make profits by buying a stock low and selling it high.
c.   a more general name for financial assets such as stocks, bonds, and checking  accounts.
d.   financial institutions through which savers can indirectly provide funds to   borrowers.
ANS:  D

19. What would happen in the market for loanable funds if the government were to increase the tax on interest income?
a.   The supply of loanable funds would shift right.
b.   The demand for loanable funds would shift right.
c.   The supply of loanable funds would shift left.
d.   The demand for loanable funds would shift left.
ANS:  C

20. In the market for loanable funds, the interaction of the demand for, and supply of, loanable funds determines the equilibrium level of
a.   the inflation rate.
b.   gross domestic product.
c.   the real interest rate.
d.   the nominal interest rate.
ANS:  C

21. Which of the following is correct?
a.   In a closed economy, equilibrium in the market for loanable funds occurs 
b.   where saving = investment.
c.   Investment is the source for the supply of loanable funds.
d.   If there is a surplus in the market for loanable funds, the interest rate rises.
e.   All of the above are correct
ANS:  A

22. For an imaginary economy, when the real interest rate is 7 percent, the quantity of loanable funds demanded is $500 and the quantity of loanable funds supplied is $500. Currently, the nominal interest rate is 9 percent and the inflation rate is 4 percent. Currently,
a. the market for loanable funds is in equilibrium.
b. the quantity of loanable funds supplied exceeds the quantity of loanable funds demanded, and as a result the real interest rate will rise.
c. the quantity of loanable funds supplied exceeds the quantity of loanable funds demanded, and as a result the real interest rate will fall.
d. the quantity of loanable funds demanded exceeds the quantity of loanable   funds supplied, and as a result the real interest rate will rise.
ANS:  D

23. An increase in the budget deficit would cause a
a. [bookmark: _GoBack]shortage of loanable funds at the original interest rate, which would lead to   falling interest rates.
b. surplus of loanable funds at the original interest rate, which would lead to    rising interest rates.
c. shortage of loanable funds at the original interest rate, which would lead to rising interest rates.
d. surplus of loanable funds at the original interest rate, which would lead to falling interest rates.
ANS:  C

24. Imagine that someone offers you $100 today or $200 in 10 years. You would prefer to take the $100 today if the interest rate is
a. 4 percent.
b. 6 percent.
c. 8 percent.
d. All of the above are correct.
ANS:  C

25. One way to characterize the difference between compounding and discounting is to say that 
a. compounding involves the assumption that the interest rate is zero, whereas  discounting does not involve that assumption.
b.   discounting involves the assumption that the interest rate is zero, whereascompounding does not involve that assumption.
c. the process of compounding produces a future value, whereas the process   of discounting produces a present value.
d. the process of compounding produces a present value, whereas the process  of discounting produces a future value.
ANS:  C

26. Which of the following is the largest?
a.  the future value of $250 with 3% interest for 2 years
b.  the future value of $250 at 2% interest for 3 years
c.  the present value of $250 to be paid in two years when the interest rate is 3%
d.  the present value of $250 to be paid in three years when the interest rate is 2%
ANS:  B

27. If the interest rate is r percent, then the rule of 70 says that your savings will double about every
a.  70/(1 - r) years.
b.  70/(1 + r) years.
c.  70/r years.
d.  70(1 + r)/r years.
ANS:  C

28. Abby buys health insurance because she knows that she has health risks that wouldn’t be obvious to an insurance company. Brad buys home owners insurance and then is less careful to make sure he’s put out his cigarettes. The example with Abby
a. and the example with Brad illustrate adverse selection.
b. and the example with Brad illustrate moral hazard.
c. illustrates adverse selection; the example with Brad illustrates moral hazard.
d. illustrates moral hazard; the example with Brad illustrates adverse selection.
ANS:  C

29. Which of the following best illustrates moral hazard?
a. After a person obtains life insurance, she takes up skydiving.
b. A person obtains insurance knowing he is in poor health.
c. A person holds stock only in very risky corporations.
d. A person holds stocks from only a few corporations.
ANS:  A 

Figure 27-1.  The figure shows a utility function.
[image: ]

30. Refer to Figure 27-1.  The utility function that is shown exhibits the property of diminishing
a.  wealth
b.  utility
c.  marginal wealth
d.  marginal utility
ANS:  D
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